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How to face a 5 :0+1 defence

.

A : NED in attack with pivot-RB

After requesting the ball and RB’s run to the inside the pivot profits from the defence’s
anticipation of RB that causes open space in the back of the left half-defender.
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Given that the defence closed the gap, the pivot passes to the right wing.
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Based on that delayed pass the right wing prepares for a perfect shot at the goal to
score with a nice wide shooting angle.




B : The following picture row shows another spectacular situation for that age category
with excellent technical skills.
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The right back is in possession of the ball and the attack shifts to the centre when the
centre back requires the ball.
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The right back crosses with the centre back.
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The centre back moves to the wing to attack the gap.

Pass with help of an excellent Kempa executed by the centre back and the right wing
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A perfect timing proves the high quality as concerns technical skills.







